| ZH0IA LIFO A2 AIRSH= ABlo| 02 Flo} MWSIAIR,

2 AEH(Stack) 2| S20lIM Cigo| T4 =9 HV[HoR HV(US Wl 2 A27 (20044 715
((CA/B)+C)-(D*E))

Jb.A/B+C-D*E Lt AB/C + DE *-
ch. A/B+ C-*DE 2. AB/C + - DE *

] 28 oi2alol kst Mol 9E LAIL? (200411 715 EH)
7} FIFO Lt FILO ch LILO 2}, LIFO

o

AEHO| & Fofet H2[7} M A7 (20044 7|=2H)

7} SIS Kot Az L. 8% 220 24 Hof
o}, QlEfRES] 22| B}, 2Alo] Al
) CF2 Alol| Chatod Postfix 7IMo2 87 718 2427 (2004 7220

(A*B) + (C+D)

b+ AB=CD L +=AB=CD
ch AB+*CD* + 2. *AB+=CD

| ChSe Stackoll X2E Ael(Insert)shs LmaIZo|ct wizhol| Xgtst hSL? (004t 715

procedure Insert(data, n, top, Stack)

if top> n then call Stack-Full;

top =top + 1;
Stack(top) = ( g
end Insert
7} top L} data
c} top-1 2} data-1

)

A
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0=7? (20051 7|Z2H)

A(

) is an ordered list in which all insertions and deletions are made at one end,
called the top.

7} stack L} queue C}. list 2}, tree
[ chem 2ol infix2 EElE 42 postfix E712 || #Est A

ot A27 (2005 7|1&2H)
A=(B-C)*D+E

7l =A*-BC+DE Lh. =A++-BCDE
Ch ABC-D+*E+ = 2t ABC*D-E+ =

H Cle gso| ot

AT 2= ohol| Azt

ot

TAo| FH2? (20054 7|=2H)

The reverse Polish notation is in a form suitable for stack manipulation. The expression
(A+B)*(C+D) is written in reverse Polish notation as ( ).

7ZLAB+CD ++ L1 AB+CD=*+
ch. + AB+CD+* gt.*+AB+CD

18

HlolEl2] AlQl, Ab7}F TOPOJRIT R2= 3155 LojMzt 0|2 Z(LIFO) Hele R2TEE
F2olo2tl sh=7+? (2006 7[E2H)

7} AEH L} 7 cf. o
1] cren 22 E9/A(nfix 2 2914l (postfix 22 2812H|

7(20034, 200414, 20054 7|Z2H)
A/B *(C+D)+E
7}. ++/AB+CDE L} CD+AB/+E+
ch. AB/(CD+)*/E+ 2l. AB/CD++E+






